	Cis 350, 2003   QUIZ #5 (Total: 10 points)

NAME:


(2 points)

Given a 1 dimensional function F: [0.. 2(] ( (, which of the following statements is true ?

· F can never be constructed by the Fourier Synthesis, since only sine functions can be synthesized

· F can be constructed, but it must be periodical in [0.. 2(], i.e. it must ‘repeat at least twice’

· F can always be constructed (there are minor restructions, but in the framework of this course they don’t count)

(3 points)

Two sine curves s1 and s2 are defined in a way that they differ only in their ‘phase’. This means:

· their max. value is different

· their number of oscillations is different

· s1 can be achieved from s2  by shifting s2 left or right (a certain amount)

· their average value (defined over neg. to pos. infinity) is different

(4 points)

Given a one dimensional function g: (( (, a second function h is defined by: h(x)= a* g(x + s) + b, with a,s,b ( (. Be Fg and Fh the set amplitudes of the fourier-coefficients (=the ‘fourier spectrum’) for g and h.   Which of the following statements are true ? (multiple correct answers might be possible)

· The fourier spectra are always identical

· If b=0 the fourier spectra differ by a constant factor k (Fgi  = k * Fhi )

· if a=1 and b=0 the spectra are identical

· if a = 1 and b <>0, the spectra differ only in the dc - coefficient

· The fourier spectra are never identical, since f and g are different

(1 point)

Adding a sine and a cosine curve yields

· always a sine-like curve (phase shifted)

· nothing, it’s not allowed

· always a cosine-like curve (phase shifted)

· a sine (or cosine) –like curve if the frequencies are identical

· a curve shaped like the outline of a bear

